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Quiz Two: 151-300

Part One: Choose which answer is most similar in meaning to the word in bold.

1. hazardous A. studious B. perilous . consuming D. safe

2. heartland A. mainstream B. island . hearing D. heredity

3. homologous A. disconnecting B. covering . corresponding D. protecting
4. hunk A. square tile B. round glass . light D. indefinite shape
5. ideal A. lie B. hope . fortune D. hypothesis

6. hunker A. settle in B. hurl . relate to D. display

7. heyday A. depression B. realization . prosperity D. wizard

8. hoodlum A. professor B. gangster . neighbor D. shine

9. hybrid A. promotion B. intensity . publicity D. offspring

10. hatchling A. baby animal B. genetic profile . certain space D. vegetative matter
11. hue A. color B. house . test D. system

12. highlight A. hijacked B. rural . westerly D. important

13. hostile A. angry B. upper . puzzled D. conclusive

14. head A. proceed B. support . exist D. sideline

15. hype A. sensitivity B. performance . difficulty D. promotion

Part Two: Choose which answer is opposite in meaning to the word in bold.

16. hind A. rear B. behind . front D. back

17. illuminate A. stupify B. explain . clarify D. interpret
18. hypersensitive A. irritable B. numb . tender D. onedge
19. illustrious A. renowned B. indistinct . famous D. celebrated
20. inevitably A. inescapably B. certainly . unavoidably D. avoidably
21. herculean A. formidable B. invincible . conquerable D. enormous
22. headwater A. source B.end . beginning D. entrance
23. incarcerated  A. imprisoned B. locked up . freed D. caged

24. incessant A. endless B. continual . interrupted  D. unceasing


http://www.bettertoeflscores.com/

Michael Buckhoff Publishing. Single User Rights Only. 2

25. ignoble A. vile B. innocent C. vulgar D. base

26. illusion A. mirage B. reality C. hallucination D. dream

27. imply A. hint B. intimate C. infer D. assert

28. immunity A. resistance B. susceptibility C.exemption  D. freedom from
29. imperceptible A. indiscernible B. unnoticeable C. apparent D. indistinguishable
30. inclusive A. compendious B. encompassing C. exclusive D. comprehensive

Part Three: Complete each sentence below with the most suitable word from the four answer choices.

31. Vigorously opposing this teaching, the First Council of Constantinople reasserted the Nicene condemnation of
Arianism as in 381, and Arianism soon disappeared from the Roman Empire.

A. hiatus B. heredity C. heresy D. hide
32. Large animals such as sheep tend travel in groups called flocks.

A. host B. hoofed C. hurtle D. hypoxia
33. A fourth airplane traveling from Newark to San Francisco was and, after turning east from its westerly
course across Pennsylvania and Ohio, crashed in rural Somerset County, Pennsylvania at 10:03 a.m.

A. hijacked B. hollowed C. hosted D. hurled
34. England was the world's most industrialized country in 1800, and from England the new industrial machinery, style
of work, and, spread to the United States.

A.icon B. ideology C. idiosyncrasy D. hypothesis
35. Like black bears, porcupines climb down a tree backward because their hind paws cannot support them if they go
down

A. headquarter B. headway C. hemisphere  D. headfirst
36. The fewer the , the rarer and more valuable the diamond.

A. impending B. imperfections C. implications D. impairments
37. After a six-year in human space flight, NASA debuted the space shuttle Columbia with a radical new
idea: a reusable spaceship that would take off like a conventional rocket and land like a glider.

A. hieroglyphics B. heretofore C. hiatus D. hibernation
38. Many sought to attract visitors and investors to the burgeoning mining areas of California during the
1800's.

A. hustlers B. hurlers C. hypoxia D. humanitarian
39. The effect would have been as though a lousy cosmic golfer torn up a giant chunk of turf and sent it

into orbit.

A. hotspot B. hurtling C. hypothesizing D. hosting
40. The Ontario report found a probable link between firefighting and cancer even though the evidence
was

A. increase B. inconsistent C. in conjunction D. incumbent
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41. When climbers reach the summit of Mount Everest, few feel as if they”’re on top of the world. The thin air at this
extreme altitude offers only a third of the oxygen available at sea level. Lack of oxygen, or , starts a chain of
reactions that can result in altitude sickness.

A. hypoxia B. hypnosis C. icon D. idiosyncrasy
42. It is agreed by most historians that the English alphabet descended from ancient Egyptian .

A. hieroglyphics B. hummers C. hollows D. home runs
43. Alchemists searched for an elixir that would produce .

A. impairment B. interception C. immortality ~ D. intertwine
44, During 18 days in May 1924, hundreds of steam explosions from Kilauea mud, debris, and hot rocks

weighing as much as 8 tons (7,000 kg) as far as two-thirds of a mile (1 km) from the center of Halema'uma'u the current
crater within the larger volcanic depression (caldera) at Kilauea's summit.
A. hurled B. heaped C. hammered  D. hijacked

45. It is important to remember that it was after this battle that the Union soldiers realized that hopes for an easy
victory over the south were .
A. theorized B. idiosyncrasy C.ill-founded D. impended

46. The intellectual and methodological developments in art history and Sinology, but more profoundly the growth of
systematic archaeology in China which resulted in numerous datable materials, provided tremendous to the
study of Chinese art, with researchers and art historians making great strides, discovering, confirming, re-constructing and
reinterpreting art in China.

A. imposition B. impressive C. impetus D. implication
47. Although the plane of the Moon's orbit about the Earth is about 50, it's equator is inclined about 6.50,
resulting in a 1.50 inclination of the Moon's spin axis to its orbital plane around the Sun.

A. incidental B. inclined C. conceived D. included
48. The entire digestive system from the mouth to the anal sphincter is a single, long, muscular tube about
30 feet long. A. hollow B. hemisphere C. host D. icon
49. Due to his to read fluently, it is recommended that he retake his English Literature class.

A. in accordance B. inauguration C. inability D. incentive
50. At the old school, there are a of old desks, chairs, and tables which could be auctioned off at the
outdoor market next week.

A. heathen B. host C. headfirst D. headway

Part Four: Complete each sentence using the correct word form.

51. One attempt to solve the dark matter problem the existence of an undiscovered particle already existed
in the very early universe.

A. hypothesize B. hypothesis C. hypothesizes D. hypothesizing
52. Georgia was established by a group of. who were determined to create a settlement for debtors
imprisoned in British jails.

A. humanitarians B. humanities C. humanitarian D. human
53. A speaker may try not to directly by asking for a pen. Instead he would rather it be offered once the

teacher realizes he needs one, and you are looking to find one.
A. impose B. imposed C. imposing D. imposition
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54. During the 19" century, a few writers who faced financial ruin went on to write some of the greatest
books of all time. A. impended B. impend C.impending  D. impends
55. Multiple Personality Disorder is viewed by some as an extreme level of dissociation, which may result in serious
or inability to function.

A. impair B. impairment C. impaired D. impairing
56. In addition to internal , surface irregularities are referred to as blemishes.

A. inclusive B. inclusively C. inclusions D. inclusion
57. Because to compete in the emerging global economy, citistates have no choice: they must mobilize all their skills to
protect their center cities, grow smarter, protect their air and water, achieve more social equity, and train their workforce to
excel in an competitive world marketplace.

A. increases B. increasingly C. increased D. increasing
58. Johnson and Newport’s assertions have wide ranging for classroom teaching.

A. implications B. implicate C. implicating  D. implicated
59. The of Roger Staubach, a quarterback for Dallas Cowboys football franchise, into the Hall of Fame
was well deserved. A. induce B. induces C. induced D. induction
60. It is that Hitler and his regime were responsible for the deaths of more than six million Jews.

A. inconceivably B. inconceive C. inconceivable D. inconceived
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